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WUms: Jata: ___ Ouenka:___
9,03 x20% = 3,19 x50% =
4,78 x 60% = 0, 69 x 40% =
0,29 x 40% = 8,47 x 40% =
1,63 x30% = 8,31 x40% =
5,18 x 40% = 7,58 x 20% =
0,03 x 30% = 0,1 x90% =
3,74 x20% = 3,7 x50% =
9,49 x 40% = 1,96 x 70% =
1,6 % 10% = 4,69 x 80% =
8,55 %x20% = 7,48 x 20% =
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Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

9,03 x20% = 1.806

4,78 x 60% = 2.868

0,29 x40% = 0.116

1,63 % 30% = 0.489

5, 18 x40% = 2.072

0, 03 x 30% = 0.009

3,74 x20% = 0.748

9,49 x 40% = 3.796

1,6 x10% = 0.16

8,55 x20% = 1.71

[ara:

3,19 x50% = 1.595

0,69 x 40% = 0.276

8,47 x40% = 3.388

8,31 x40% = 3.324

7,58 x20% = 1.516

0,1 x90% = 0.09

3,7 %x50% = 1.85

1,96 x70% = 1.372

4,69 x 80% = 3.752

7,48 x20% = 1.496
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Orenka:
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